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UPCOMING ONLINE BATCHES
February 2023

08 FEB 2023

03:00 PM to 05:00 PM

15 FEB 2023

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS BANK ONLINE LIVE CLASS

BILINGUAL BILINGUAL

15 FEB 2023

BANK ONLINE LIVE CLASS

English & Bengali
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Real Champs-

Riya Mandaokar & days ago

Thank you so much sir for the amazing session.the que was good and intresting.

51 CF  Reply

v 1reply e

=

Mimanshal@ & days ago
8400

Thank you sir
{51 G

v 1reply

Esha Ray Chaudhuri &

Zikra Yasmeen §

Answer 8400
51 G Reply

v 1reply

Surbhi Sinha & 0
Homework question answer

g5 1 CH  Reply

w 1reply

Homework answer is 8400 bricks. Session is really good sir &

51 CF  Reply

v 1reply

Tanisha p 6 days ago

Thank u sir ., such a wonderful and helpful session

Homework 8400

51 CF  Reply

8400 88 bricks




; Tanu Jain 6 days age
I h 'y Homework Ans is opt d = 8400
Rea C amS' Thank you sir for this wonderful session and questions was nice

g1 CH Reply

+ 1reply

| love daddy & & 6 days ago
Homework Answer

8400

Thanku so much sir

51 CJ Reply

+ 1reply

harsh sharma & days ago
Today's homework answer is 8400

Thank you wanderful sessions
All sessions wanderful sir

g1 CJ Reply

+ 1reply

Nitu Maurya & days ago
Hw ans 8400....

Session bhut acha tha .
Thanku so much sir.




IBPS Target Batch Schedule

*¢* Monday- Basic topic ( 10min Quiz )

X Tuesday- Basic topic ( 10min Quiz )
X Wednesday- Basic topic ( 10min Quiz )
** Thursday- DI special ( Prelims Level )

** Friday- Top Trending Questions ( Word
Problems) - Same or Miscellaneous

X Saturday- Mains Magic ( Mains level) =



2 men can build a wall in 15 hours and 20 hours respectively but if they work together,

they use 280 less bricks per hour and build a wall in 12 hours. Find the number of bricks in
the wall ?

2 SHT hAA: 15 T¢ 3 20 g¢ H Th SR T hd & Afhed ATE I Th AT HBIH hd &, af d
gfd g¢ 280 % S&i &l 3UINT dld o 3 12 g¢ FH Th EaR J41d &l SO H i I F&IT ATd
Hifer?

7200
8100
7800
8400
NOT

m o a0 w »



Speed of boat in still water is 37.5% less than the speed of the boat in downstream and boat |
covers 30km in upstream in 5 hours, then find time taken by boat to cover 84 km in \
downstream ?

fERR STer A drg & a7fd URT & Hefpel AT DT AT F 37.5% HA g IR AT URT & Uidgpel 30 fhay
Y g 5 G H TT BT §, Al YR & HJped 84 fohell T gt dF o H g gy foram = w1y
SIGECAIE Y,

A. 4

B. 4.2
C. 35
D. 5

E. NOT




There are two mixture comprising milk and water. Ratio of milk to water in both mixture

is 4:1. 50% of mixture B is mixed in mixture A then quantity of water in resulting mixture
becomes 20 liters. Then find ratio of total quantity of mixture A to total mixture B if total
quantity of both mixture is 140 liter ?

gy 3R Ul & & fAOr T S|t Ao # gy 3R urell 1 3gurd 4:1 1 THAOT BHT 50%
fasor AR fFramar Srar & ar gaRumaTasy AT & g Y A=Fr 20 e g Fdr &1 a
fAS0T AT Pol AT 3R AT BT HoT ATHT T 3JUId AT DIt TTE Gl THHON T Pl
ATAT 140 el ©7

4.3
3:4
5:6
7:8
NOT

m o 0w P



A alone takes 25 days more than the time taken by A and B together to finish certain work. |
If B alone takes 24 days to finish the work then find the time taken by A to finish the same
work alone ?

A 3Tchel ThET ST I QU i H A AR BERT Tolv 910 AT § 25 & 31U oiar &1 IS B
3chol hIHA Bl QT B H 24 & oIdT &, A AGRT 37chel ST HIA I QU ™ H T dr aram
AT ATd HIferd?

30
50
40
70
NOT

m o 0w P



Tap X is 1/3" more efficient than tap Y. Tap Z can empty the tank at the rate | <
40liter/hour. Initially tap X and tap Y are opened for 13/7 hours then tank is filled 10
liters more than 3/4"" of the capacity. After that tap Z also opened than tank full in 1

hour. What time tap Z take to empty full tank ?

¢U XTSY T, U YT Jeoldl H 1/3 3P FHAT & U z<&h &l 40cieT/Tel Hl T |
GTell Y hdT &l URH & oo X3IR dd YR 13/7 g & T @rar Jrar &, Y & o
&THAT & 3/4 O 10 ol 3ifAS IR SAAT &1 38P I el 2801 1 8¢ A Ih @ IR 3T Go
TAT| AT Z P Wlell WA ThT A Tohdell AT I &2

m o O w p
0 O H o©
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The average earnings of a group of person of a family is 50rs/day. The difference between

the highest earning and lowest earning of any two persons in the group is 45rs. If these two
people are excluded, the average earning of the group decrease by 1rs. If the minimum
earning of the person in the group lies between 42 and 47 and the number of person
initially in the group was equal to prime number, with both digits are prime. Find the
number of persons in the family?

Ush URAR & <IRhal & THg T 3ad 3T 50 U/ B g A fheel & <afehat &
3TIdH hATS AR & HA HATS & T B I 45 TG &1 TG 31 T AN Pl de @M
ST &, dl FHg I 3ad HAS 1 U HHA @ Al &l TG Hg H b bl Padd 3T 42
AR 47 & g § 3R ToE F YT A AP H T AT TE&AT & Wk A, 5@ gt
3P AT &l IRAR H © P fY gEar g HifEa?

A. 27
B. 37
C. 38
D. 34
E. NOT



In an exam, (x+10)% of the total students failed in math, (x+25)% failed in English N
and x% failed in both subjects. If (x+25)% of those who passed in both subjects, then

find the value of (x+15)?
U e H, Pl OHE A T (x+10)% IOTT F 0T §T, (x +25)% IS H 30T g0 3R

x%aﬁmﬁwylaﬁﬁmﬁm arell & & (x+25)% &, dl (x +15) &l
AT ATd HfFA?

35
20
40
36
NOT

m o o w »



